
�

SK1890  REV.  B 

STAR MANUFACTURING INTERNATIONAL, INC. 
3/01/06

NUT SUPPLIED
WITH ITEM 22.

41
28

27

NUT AND WASHER
SUPPLIED WITH ITEM 35.

29

25

23

37

35
34

33

24

38

8

39

36

18

17
30

35

34

5

11

7

9

2

4

6

3

3

15

10 14

12

42

13

32

O-RING SUPPLIED
WITH ITEM 22.

22

31

1

26

19
20

16

21

40

40

40
43

MODEL 35SSA, 70SSA 

THIS DRAWING CONTAINS INFORMATION  
CONFIDENTIAL TO STAR MFG. INT'L. INC. 
NO REPRODUCTION OR DISCLOSURE
OF ITS CONTENTS IS PERMITTED. 

SHOWN IN THE 
HEAT ON POSITION 



�

PARTS LIST								       	 October 27, 2011, Rev. L

   

 IMPORTANT: WHEN ORDERING, SPECIFY VOLTAGE OR TYPE GAS DESIRED	 	           	             PAGE
	           INCLUDE MODEL AND SERIAL NUMBER				             		                  OF

Some items are included for illustrative purposes only and in certain instances may not be available.

     Star Manufacturing International, Inc.

MODEL

					   
					   
					3     5SSA/70SSA Hot Dog Steamer/Bun Warmer

														1             
														2              	
													           

Fig No Part No Qty Description Application

1 A3-ST3014 1 Top Assembly 35SSA
A3-ST7009 70SSA

2 A3-Z5205 1 Shelf - Bun 35SSA
A3-Z5324 70SSA

3 A3-Z5198 2 Cover - Bun Shelf

4 A3-ST3017 1 Shelf Assy. - Buns 35SSA
A3-ST7010 70SSA

5 A3-ST3013 1 Water Tank Assembly 35SSA
A3-ST7011 70SSA

6 A3-Z5204 1 Shelf - Hot Dog 35SSA
A3-Z5327 70SSA

7 A3-ST3016 1 Shelf Assy. - Hot Dogs 35SSA
A3-ST7012 70SSA

8 A3-Z3967 1 Bottom 35SSA
A3-Z4131 70SSA

9 A3-Z5312 1 Juice Tray 35SSA
A3-Z5331 70SSA

10 A3-Z5314 1
Shelf, Top - Hot Dog

35SSA
2 35SSAD

A3-Z5332 1 70SSA

11 A3-Z5199 1 Divider 35SSA
A3-Z5322 70SSA

12 A3-Z5360 1 Chain - Door 35SSA
A3-Z5361 70SSA

13 A3-ST3015 1 Door Assembly 35SSA
A3-ST7013 70SSA

14 2A-Z5202 1 Rod - Hinge 35SSA
2A-Z5329 70SSA

15 A3-Z5313 1 Bun Basket 35SSA
A3-Z5326 70SSA

16
2R-Z6850

1
Knob

PS-ST3020 Thermostat Replacement Kit, w/knob (manuf. prior to 10-12-2003)

17 A3-ST3012 1 Assembly - Lower Body 35SSA
A3-ST7002 70SSA

18 2E-Z14428 1 Relay DPDT 15A/120V  
2E-Z4358 Relay DPDT 230V  

19 2E-Z1858 1 Switch - Lighted
20 2E-Z4148 1 Switch Splash Guard
21 2J-Z2329 1 Pilot Light
22 PS-ST7016 1 Float Switch Assembly
23 2K-7889 1 Bushing Heyco SR-11-2

http://www.partstown.com/star/staa3-st3014?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st7009?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st3017?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st7010?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st3013?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st7011?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st3016?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st7012?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st3015?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st7013?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staps-st3020?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st3012?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2e-z14428?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staps-st7016?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5205?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5198?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5204?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5327?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z3967?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z4131?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5312?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5331?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5314?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5332?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5199?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5322?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5360?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5361?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2a-z5202?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5313?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z5326?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2r-z6850?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2e-z4358?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2e-z1858?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2e-z4148?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2j-z2329?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2k-7889?pt-manual=STA-35-70SSA_pm.pdf


�

PARTS LIST								       	 October 27, 2011, Rev. L

   

 IMPORTANT: WHEN ORDERING, SPECIFY VOLTAGE OR TYPE GAS DESIRED	 	           	             PAGE
	           INCLUDE MODEL AND SERIAL NUMBER				             		                  OF

Some items are included for illustrative purposes only and in certain instances may not be available.

     Star Manufacturing International, Inc.

MODEL

					   
					   
					3     5SSA/70SSA Hot Dog Steamer/Bun Warmer

														2             
														2              	
													           

Fig No Part No Qty Description Application

24 A3-ST3006 1 Cordset Assembly - 120V
A3-ST3019 Cordset Assembly - 230V

25 ———— 1 Nameplate
26 A3-35219 1 Cap & Chain
27 2A-Y3405 4 Foot
28 2P-Y3404 4 Plug - Rubber

29 2M-Z5539 1 Label - Control Panel 70SSA
2M-Z5540 1 Label - Control Panel 35SSA

30 2M-Z4035 1 Label - Body 35SSA
2M-Z4081 70SSA

31

2N-Z4058

1

Element, 1000W / 120V 70SSA
2N-Z4359 Element, 1000W / 230V 70SSA
2N-Z5252 Element, 800W / 120V 35SSA
2N-Z5420 Element, 800W / 230V 35SSA

32 2I-Y6404 2 O-Ring

33
2T-Z7202

1
Thermostat (manufactured after 10-12-2003)

PS-ST3020 Thermostat Replacement Kit, w/knob (manufactured prior to 10-12-2003)
34 2C-1825 11 Washer #8 Ext. Stl. NP
35 2C-2556 11 Nut 8-32 Hex. Stl. NP
36 2C-1488 2 Screw 6-32 x 3/8 RHP Stl. NP
37 2C-2553 2 Nut 6-32 Hex. Stl. NP
38 2C-6349 6 Screw #8 x 3/8 B Thrd. Stl. NP
39 2C-Y1451 2 Rivet 1/8 x .313 Pop Al. Sm.
40 2C-1640 3 Screw 8 x 1/4 Type A RH NP
41 2C-Y5059 4 Rivet 3/16 x .675 Pop. Al. Am.
42 2C-2581 2 Nut 1/2-20 Br. Acord NP
43 A3-Z7598 1 Thermostat Reinforcement Plate

http://www.partstown.com/star/staa3-st3006?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-st3019?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staps-st3020?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-35219?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2a-y3405?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2p-y3404?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2m-z5540?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2m-z4035?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2m-z4081?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2n-z4058?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2n-z4359?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2n-z5252?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2n-z5420?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2i-y6404?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2t-z7202?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2c-y1451?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2c-y5059?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/staa3-z7598?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2c-1825?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2c-2556?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2c-1488?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2c-2553?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2c-6349?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2c-1640?pt-manual=STA-35-70SSA_pm.pdf
http://www.partstown.com/star/sta2c-2581?pt-manual=STA-35-70SSA_pm.pdf

